6 Network Protocol
	
	Syllabus: Explain the need for protocol within network and among network. 

	1
	What is a network protocol? #3-#5
It is a set for rules for 2 parties to communicate.

	
	

	2
	What is the  Open System Interconnection (OSI) model?

OSI  is a theoretical model consisting of  7 layers.
· Application layer 7 : Highest level. Supports the transfer of information between end-users program.

· Presentation  layer 6: Allow devices using different data format to communicate. E.g. Data from ASCII device to EBCDIC device is converted to EBCDIC . Encryption is also handled at this layer.
· Session layer 5: User application interface with the network. Establish, manages and terminates sessions between applications.
· Transport layer 4: handles transfer between (end to end systems) host computers. Uses error controls to check  data and to recover in cases of errors..

· Network Layer 3: performs switching and routing technologies for data packets. Also accounting information on use of network.

· Data link layer 3: Handles data transmission error at the physical  layers. Packets (frames) containing control information, source and destination address  are checked for error during transmission. Resolves error frames and missing frames and duplicate frames.
· Physical layers 1. Defines the standard for the mechanical and physical aspect of the interface device. Convert input bit stream into signals (e.g. data on carrier)    #14

	
	

	3
	What is TCP/IP system?  #29
It defines the standard for the practical use of network transmission,

	
	

	4
	Describe how a  file  can be transmitted between 2 users on a network?
Sender signals  a that it wish to send  file to peer ( a request) . 
Receiver acknowledges that it is ready to receive file.

Sender divides file into numbered blocks each with source/destination address.

Sender sends  numbered blocks or numbered packets.
Receiver acknowledge receipt of packets of data or request for error packets to be re-sent.
Packets not received is re-sent by sender.
When all packets are received by receiver,

Receiver will re-combined data blocks to form the file.

A timeout occurs if the receiver does not receiver any packets after a period of time.
Or the sender does not receive any acknowledgement after a specific period of time

How does a client request for a file from server/


